# PUBLIKACIJE ELEKTROTEHNIČKOG FAKULTETA UNIVERZITETA U BEOGRADU PUBLICATIONS DE LA FACULTÉ D'ÉLECTROTECHNIQUE DE L'UNIVERSITÉ À BELGRADE

SERIJA: MATEMATIKA I FIZIKA — SÉRIE: MATHÉMATIQUES ET PHYSIQUE

№ 338 — № 352 (1971)

## 347. SOME CONTRIBUTIONS TO THE MEAN VALUE THEOREM\*

### Ivan B. Lacković

0. In his paper [1] J. KARAMATA has generalized the theorem on mean values, replacing the existance of the first derivative by the existance of the left and right derivatives in the interval in question. Using these results, V. VUČKOVIĆ [2] generalized, in the same way all the important consequences of LAGRANGE'S theorem. All these theorems from [1] and [2] reduce to the usual theorems of that type (i.e. the theorems exposed in [3]) if one supposes that the derivative exists. The mentioned theorems refer to real functions.

In paper [4] S. REICH using DINI's derivatives, proved the following theorem:

Let f be a function with the following properties: 1) f is continuous in [a, b], 2) the four DINI derivatives of f are finite in (a, b), 3) f(a) = f(b). Then either (a) there exists c in (a, b) such that  $f^+(c) \le 0$  and  $f_-(c) \ge 0$ , or (b) there exists d in (a, b) such that  $f_+(d) \ge 0$  and  $f^-(d) \le 0$ .

The proof of this theorem is left out in paper [4], since it can be found in [5].

In this paper we shall generalize FERMAT'S, ROLLE'S, LAGRANGE'S and CAUCHY'S theorems analogously to [1] and [2]. These generalizations include the mentioned theorem from [4], but in a new form.

- 1. In this paper we shall use the following definitions and results:
- **1.1.** Let  $x_k (k = 1, ..., n)$  be real numbers with  $a = \min (x_1, ..., x_n)$  and  $b = \max (x_1, ..., x_n)$ . Then any number  $t \in [a, b]$  can be represented in the form

$$t = \sum_{k=1}^{n} p_k x_k$$

where  $p_k \ge 0$  (k = 1, ..., n) and where  $\sum_{k=1}^{n} p_k = 1$ .

**1.2.** In [6] one can find the following definition: If for a function f for some  $x \in R$  there exist

$$\overline{\lim}_{h\to 0+} D(x, h), \lim_{h\to 0+} D(x, h), \overline{\lim}_{h\to 0-} D(x, h), \lim_{h\to 0-} D(x, h),$$

<sup>\*</sup> Presented November 1, 1970 by R. P. Boas and D. S. MITRINOVIĆ.

then we say that f has the upper right, lower right, upper left, lower left derivative respectively in x, which we denote  $D^+f(x)$ ,  $D_+f(x)$ ,  $D^-f(x)$ ,  $D_-f(x)$ , i.e. by  $D^+$ ,  $D_+$ ,  $D^-$ ,  $D_-$ , if we know which point is considered. Besides, we have

$$D(x, h) = \frac{f(x+h)-f(x)}{h}$$
.

**1.3.** If f and g are defined on  $I \subset R$ , then if the limit values

$$\overline{\lim}_{x \to x_0} f(x), \quad \underline{\lim}_{x \to x_0} f(x), \quad \lim_{x \to x_0} g(x)$$

exist when  $x \rightarrow x_0$  through I, then

$$\overline{\lim}_{x \to x_0} (f(x) + g(x)) = \overline{\lim}_{x \to x_0} f(x) + \lim_{x \to x_0} g(x),$$

$$\underline{\lim}_{x \to x_0} (f(x) + g(x)) = \underline{\lim}_{x \to x_0} f(x) + \lim_{x \to x_0} g(x).$$

2. The following theorem is a generalization of Fermat's theorem (see, for example [3]):

**Theorem 1.** Let f be defined in [a, b] and let f have the derivatives  $D^+$ ,  $D_+$ ,  $D^-$ ,  $D_-$  in (a, b). If f reaches its highest (lowest) value for  $r \in (a, b)$  then there are real numbers  $p_k \ge 0$  (k = 1, 2, 3, 4) where  $p_1 + p_2 + p_3 + p_4 = 1$ , such that

$$p_1 D^+ f(r) + p_2 D_+ f(r) + p_3 D^- f(r) + p_4 D_- f(r) = 0.$$

**Proof.** Let f reach its minimal value in  $r \in (a, b)$ . Then

$$f(r+h)-f(r) \ge 0$$

for all  $h\neq 0$  and all  $r+h\in (a, b)$ . Let h>0. Then

$$\frac{f(r+h)-f(r)}{h} \ge 0$$

and, since  $D^+$ ,  $D_+$ ,  $D^-$ ,  $D_-$  exist, by 1.2. we see that

$$D^+ f(r) \ge 0$$
,  $D_+ f(r) \ge 0$ .

For  $h \le 0$ , in a similar way we conclude

$$D^-f(r) \le 0$$
,  $D_-f(r) \le 0$ .

Since  $D_{-} \leq D^{-}$  and  $D_{+} \leq D^{+}$ , we have

$$D_{-}f(r) \le D^{-}f(r) \le 0 \le D_{+}f(r) \le D^{+}f(r)$$

and therefore the interval  $[D_-f(r), D^+f(r)]$  contains the numbers 0,  $D^-f(r)$ ,  $D_+f(r)$ . According to 1.1. we can write

$$0 = p_1 D \cdot f(r) + p_2 D \cdot f(r) + p_3 D \cdot f(r) + p_4 D \cdot f(r)$$

where  $p_k \ge 0$  (k = 1, 2, 3, 4) and  $p_1 + p_2 + p_3 + p_4 = 1$ . This completes the proof. The proof is analogous when f reaches its maximum in  $r \in (a, b)$ .

The mentioned theorem from [4] is a consequence of Theorem 1, and can be formulated in this way:

### Theorem 2. Let

- 1)  $f(x) \in C_{[a, b]}$ ; f(a) = f(b),
- 2) derivatives  $D^+$ ,  $D_+$ ,  $D^-$ ,  $D_-$  exist for f in (a, b).

Then there exist real numbers  $p_k \ge 0$  (k = 1, 2, 3, 4) with  $p_1 + p_2 + p_3 + p_4 = 1$ , so that

$$p_1 D^+ f(r) + p_2 D_+ f(r) + p_3 D^- f(r) + p_4 D_- f(r) = 0$$

for some number  $r \in (a, b)$ .

This form of ROLLE's theorem is a consequence of Theorem 1 and of Theorem from [4] and is a generalization of the KARAMATA—VUČKOVIĆ type.

LAGRANGE's theorem is a direct corollary of Theorem 2.

## Theorem 3. Let

- 1)  $f(x) \in C_{[a, b]}$ ,
- 2) the derivatives  $D^+$ ,  $D_+$ ,  $D^-$ ,  $D_-$  exist for f in (a, b).

Then there exist  $r \in (a, b)$  and real numbers  $p_k \ge 0 \ (k = 1, 2, 3, 4)$  with  $p_1 + p_2 + p_3 + p_4 = 1$ , so that

$$\frac{f(b)-f(a)}{b-a} = p_1 D^+ f(r) + p_2 D_+ f(r) + p_3 D^- f(r) + p_4 D_- f(r).$$

**Proof.** Consider, as usual, the function

(2) 
$$F(x) = f(x) - f(a) - \frac{f(b) - f(a)}{b - a} (x - a).$$

From (2) it follows

$$\frac{F(x+h)-F(x)}{h} = \frac{f(x+h)-f(x)}{h} \frac{f(b)-f(a)}{b-a}$$

for  $h \neq 0$ . Using 1.3. we directly have

(3) 
$$D^{+}F(x) = D^{+}f(x) - \frac{f(b) - f(a)}{b - a},$$

$$D_{+}F(x) = D_{+}f(x) - \frac{f(b) - f(a)}{b - a},$$

$$D^{-}F(x) = D^{-}f(x) - \frac{f(b) - f(a)}{b - a},$$

$$D_{-}F(x) = D_{-}f(x) - \frac{f(b) - f(a)}{b - a}$$

and, therefore,  $D^+$ ,  $D_+$ ,  $D^-$ ,  $D_-$  exist for F(x) in (a, b). Since F(x) is continuous by the hypothesis in [a, b] and since from (2) we see that F(a) = F(b) = 0 according to Theorem 2 there exists  $r \in (a, b)$  and real numbers  $p_k \ge 0$  (k = 1, 2, 3, 4) where  $p_1 + p_2 + p_3 + p_4 = 1$ , so that

(4) 
$$p_1 D^+ F(r) + p_2 D_+ F(r) + p_3 D^- F(r) + p_4 D_- F(r) = 0.$$

Multiplying (3) by  $p_k$ , adding and using (4), the **Theorem** follows.

CAUCHY's theorem can be proved in following form:

## Theorem 4. Let

- 1) f(x),  $g(x) \in C_{[a,b]}$ ,  $g(a) \neq g(b)$ ,
- 2) the derivatives  $D^+$ ,  $D_+$ ,  $D^-$ ,  $D_-$  exist for f(x) in (a, b),
- 3)  $g'_{+}(x)$  and  $g'_{-}(x)$  exist in (a, b),
- 4)  $0 \in [g'_{-}, g'_{+}]$  or  $0 \in [g'_{+}, g'_{-}]$ ,

then there exists  $r \in (a, b)$  and real numbers  $p_k \ge 0$  (k = 1, 2, 3, 4), with

$$p_1 + p_2 + p_3 + p_4 = 1$$
,

so that

$$\frac{f(b)-f(a)}{g(b)-g(a)} = \frac{p_1 D^+ f(r) + p_2 D_+ f(r) + p_3 D^- f(r) + p_4 D_- f(r)}{(p_1 + p_3) g_-'(r) + (p_2 + p_4) g_+'(r)} .$$

**Proof.** Introduce the function

(5) 
$$F(x) = f(x) - f(a) - \frac{f(b) - f(a)}{g(b) - g(a)} (g(x) - g(a)).$$

F(x) is continuous in [a, b], F(a) = F(b) = 0. From (5) it also follows

(6) 
$$\frac{F(x+h)-F(x)}{h} = \frac{f(x+h)-f(x)}{h} - \frac{f(b)-f(a)}{g(b)-g(a)} \frac{g(x+h)-g(x)}{h}.$$

From (6) it directly follows

(7) 
$$D^{-}F(x) = D^{-}f(x) - \frac{f(b) - f(a)}{g(b) - g(a)} g'_{-}(x),$$

$$D_{-}F(x) = D_{-}f(x) - \frac{f(b) - f(a)}{g(b) - g(a)} g'_{-}(x),$$

by 1.3. In the same way we also get

(8) 
$$D_{+}F(x) = D_{+}f(x) - \frac{f(b) - f(a)}{g(b) - g(a)}g'_{+}(x)$$
$$D_{+}F(x) = D_{+}f(x) - \frac{f(b) - f(a)}{g(b) - g(a)}g'_{+}(x)$$

by 1.3. On the other hand, according to Theorem 2 there exists  $r \in (a, b)$  and real numbers  $p_k \ge 0$  (k = 1, 2, 3, 4) with  $p_1 + p_2 + p_3 + p_4 = 1$ , so that

(9) 
$$p_1 D^+ F(r) + p_2 D_+ F(r) + p_3 D^- F(r) + p_4 D_- F(r) = 0.$$

Multiplying (7) and (8) respectively by  $p_k$  (k=1, 2, 3, 4) and adding, using (9), the Theorem follows.

3. Theorem 4 can be used to prove the following theorem which generalizes the Lemma proved in [7].

Theorem 5. Let the following conditions be fulfilled for functions f and g:

1) 
$$f(x)$$
,  $g(x) \in C_{[a,b]}$ ,

2) there exists  $D^+$ ,  $D_+$ ,  $D^-$ ,  $D_-$  in (a, b), so that

$$q_1 D^+ f(x) + q_2 D_+ f(x) + q_3 D^- f(x) + q_4 D_- f(x) \neq 0$$

for all  $x \in (a, b)$  and all numbers  $q_k \ge 0$  (k = 1, 2, 3, 4) with  $q_1 + q_2 + q_3 + q_4 = 1$ ,

3)  $g'_{+}(x)$  and  $g'_{-}(x)$  exists for  $x \in (a, b)$  and  $r_{1}g'_{+}(x) + r_{2}g'_{-}(x) \neq 0$  for all  $x \in (a, b)$  and all  $r_{k} \geq 0$  (k = 1, 2) with  $r_{1} + r_{2} = 1$ ,

4) 
$$g(a) \neq g(b)$$
.

Then for all natural numbers m, there exist different points  $x_k \in (a, b)$  (k = 1, ..., m) so that

$$\frac{f(b)-f(a)}{g(b)-g(a)} = \frac{1}{m} \sum_{k=1}^{m} \frac{p_1^{(k)} D^+ f(x_k) + p_2^{(k)} D_+ f(x_k) + p_3^{(k)} D^- f(x_k) + p_4^{(k)} D_- f(x_k)}{(p_1^{(k)} + p_2^{(k)}) g'_+(x_k) + (p_3^{(k)} + p_4^{(k)}) g'_-(x_k)}$$

where  $p_i^{(k)} \ge 0$   $(k = 1, \ldots, m; i = 1, 2, 3, 4)$  are some real numbers with  $p_1^{(k)} + p_2^{(k)} + p_3^{(k)} + p_4^{(k)} = 1$  for  $k = 1, \ldots, m$ .

**Proof.** In the prove of the generalized theorem in [7] one uses the ordinary CAUCHY's theorem. The proof of this theorem is the same, except that CAUCHY's theorem is replaced by the Theorem 4.

From Theorem 5 we obtain:

**Theorem 6.** If the conditions 1, 2, 3, from Theorem 5 are fulfilled for a function f, then for every natural number m there exists real numbers  $x_k \in (a, b)$  (k = 1, ..., m) so that

$$f(b) - f(a) = \frac{1}{m} \sum_{k=1}^{m} (p_1^{(k)} D^+ f(x_k) + p_2^{(k)} D_+ f(x_k) + p_3^{(k)} D^- f(x_k) + p_4^{(k)} D_- f(x_k))$$

where  $p_i^{(k)} \ge 0$  (k = 1, ..., m; i = 1, 2, 3, 4) and  $p_1^{(k)} + p_2^{(k)} + p_3^{(k)} + p_4^{(k)} = 1$  for all k = 1, ..., m.

**Proof.** In Theorem 5 put g(x) = x. g satisfies the conditions of the Theorem 5. This completes the proof.

A consequence of Theorem 6 is:

**Theorem 7.** If the conditions of Theorem 6 are fulfilled for a function f and if f(a) = f(b), then for every natural number m, there exist real numbers  $x_k \in (a, b)$  so that

$$\sum_{k=1}^{m} \left( p_1^{(k)} D^+ f(x_k) + p_2^{(k)} D_+ f(x_k) + p_3^{(k)} D^- f(x_k) + p_4^{(k)} D_- f(x_k) \right) = 0$$

where  $p_i^{(k)} \ge 0$   $(k = 1, \ldots, m; i = 1, 2, 3, 4)$  and  $p_1^{(k)} + p_2^{(k)} + p_3^{(k)} + p_4^{(k)} = 1$  for all  $k = 1, \ldots, m$ .

\* \*

The author wishes to express his gratitude to Professor D. S MITRINOVIĆ and Professor R. P. Boas whose comments and suggestions have improved this paper.

#### REFERNECES

- J. KARAMATA: O teoremi o srednjoj vrednosti. Zbornik radova SAN, Mat. Inst. 1 (1951), 119—124.
- V. Vučković: Neka proširenja stavova o srednjoj vrednosti. Zbornik radova SAN, Mat. Inst. 2 (1952), 151-166.
- 3. Г. М. Фихтенгол**ы:** *Курс дифференциального и интегрального исчисления*, І. Москва 1968, pp. 223—231.
- 4. S. Reich: On a mean value theorem. Amer. Math. Monthly 76 (1969), 70-73.
- 5. R. P. Boas: A Primer of Real Functions. MAA, Carus Monograph 13, 1960, p. 117.
- 6. S. ALJANČIĆ: Uvod u realnu i funkcionalnu analizu. Beograd 1968, p. 166.
- 7. CHIN-CHIN-LAN: An extension of the mean value theorem in  $E_n$ . Math. Mag. 39 (1966), 91-93.

Elektronski fakultet 18000 Niš, Jugoslavija